
 

PRODUIT ET QUOITIENT DES RATIONNELS 

EXERCICE 1 

Calculer a.b dans les cas suivants  

1)         𝒂 =
𝟐

𝟏𝟒
        𝒆𝒕       𝒃 = −

𝟏𝟏

𝟕
                𝟐)               𝒂 = 𝟒, 𝟐   𝒆𝒕    𝒃 = −

𝟔

𝟕
   

   𝟑)      𝒂 = −
𝟏

𝟑
     𝒆𝒕      𝒃 = −

𝟏𝟑

𝟒
               4)           𝒂 = −

𝟑

𝟓
         𝒆𝒕        𝒃 = −

𝟏,𝟐

𝟓
 

EXERCICE 2 

Calculer : 

                      A=−
𝟏,𝟓

−𝟒
×

−𝟐

−𝟑
×

𝟖

−𝟐
                     ;                     𝑩 =    

𝟐

𝟔
×

𝟗

𝟑
+

𝟖

𝟏𝟖
 

                      C=   
−𝟗

𝟓
(−

𝟖

𝟏𝟒
+

𝟓

−𝟗
)                   ;                       𝑫 =   

𝟏

𝟐
(−

𝟑

𝟓
+

−𝟏

𝟐
) 

                     E=(
𝟑

𝟒
−

𝟓

𝟔
) (−𝟑 −

𝟑

𝟏𝟖
)                    ;                     𝑭 =  (

𝟓

𝟕
−

𝟕

𝟗
) (−

𝟏

𝟖
+

𝟓

𝟏𝟐
) 

             G=(−𝟕, 𝟐 +
𝟑

𝟐
) (

𝟐

−𝟓
−

𝟏𝟑

𝟏𝟓
)                            ;             𝑯 = (

−𝟖

𝟏𝟒
+

−𝟏𝟓

𝟒𝟐
) (

𝟖

𝟏𝟒
−

𝟐𝟐

𝟓𝟓
) 

                              

• I= −
𝟒

𝟓
−

𝟑

𝟐
× 𝟓 +

𝟏𝟓

𝟒
                                 ;                      𝑱 =  

𝟕

𝟏𝟎
−

𝟑

𝟐
×

𝟓

𝟔
   

o K=   
𝟑

𝟐
: 𝟗 − 𝟓:

𝟏𝟐

𝟖
+ 𝟐                ;                       𝑳 =  

𝟏𝟏

𝟓
−

𝟑

𝟓
×

𝟐

𝟓
−

𝟒

𝟓
 

• M=       (
𝟕

𝟓
×

𝟑

𝟐
) − (𝟐 ×

𝟑

𝟒
) − (

𝟏𝟐

𝟐𝟖
:

𝟒

𝟐
)  ;               N=

𝟓

    𝟐
(𝟗 −

𝟏

𝟐
+

𝟒

𝟓
) − (𝟏 −

𝟒

𝟕
−

𝟑

𝟖
) 

EXERCICE 3 

 

                      𝑨 =
𝟐

𝟑
+

𝟑

𝟒
𝟑

𝟓
−

𝟏

𝟑

   ;                                                                                        𝑩 =
𝟏𝟐

𝟓
×

𝟕

𝟑
𝟐𝟖

𝟓
−

𝟕

𝟐

 ; 

𝑪 =
𝟐

𝟓
×

𝟐

𝟑
−

𝟐

𝟏 −
𝟐
𝟕

               𝑫 = 𝟒 + 𝟑 ×

𝟓
𝟐 − 𝟏

𝟓
𝟒 −

𝟏
𝟐
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